Installation
Comar 6EFT

2sided SGH

Capped

‘suonjedyipow 03 393lgns *paAJasad s3ybid Jaylo ||V

*Aped paiyy Aue 03 uonediignd 4oy 1o uoponpoadaa ‘asn si1 10y
padinbau s 3uasuod uam Jod asoym ‘p1T SWDISAS apeded oing
‘143 ul paisaa sI buimedp siyz jo diysasumo pue jybluAdod

apIno saojedlige-

4sided SG

2sided SGV

Sous reserve de modifications
Anderungen vorbehalten

Changes reserved

comarnr

ARCHITECTURAL ALUMINIUM SYSTEMS

10-16

Issue: 05
Date:



Installation < / >

Comar 6EFT

7.00

Details:

1.

—
One substructure for all curtain wall types

(Fully Capped / 2sided SGH / 2sided SGV /
4sided SG)

2. Controlled drainage system (mullion
drained) - drainage diverter

G) 3. Thermal break

.D 4. Mullion-Transom step-cut & sealed by EPDM

— moulding

-] 5. Ladder (unit) construction or stick build
6. Moulded EPDM corners available

(D 7. Mullion / Transom pressure plate gasket
8. Pressure plate

n 9. Mullion cover cap

- 10. Transom cover cap

)

©

O

| -

©

L
-

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

Exploded typical detail
Fully capped

Subject to modifications.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date : 10-16



< / > Installation

Exploded typical details Comar 6EFT
Horizontal cover cap (2sided SGH)

Subject to modifications.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Details:

1. One substructure for all curtain wall types (Fully
Capped / 2sided SGH / 2sided SGV / 4sided SG)

2. Controlled drainage system (mullion drained) -

drainage diverter

Thermal break

Mullion-Transom step-cut & sealed by EPDM

moulding.

Ladder (unit) construction or stick build

Moulded EPDM corners available

Transom pressure plate gasket

Transom pressure plate

Mullion joint gasket

Transom cover cap

Mullion clamping system

»w

mfpYooNow

= O

Fabricators Guide

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten C O m a r‘Q

Issue: 05
Date: 10-16 ARCHITECTURAL ALUMINIUM SYSTEMS



Installation ( 7/ )
Comar 6EFT

Vertical cover

7.02

Details:

[y

One substructure for all curtain wall types,

Fully Capped, 2sided SGH, 2sided SGV & 4sided SG.

Controlled drainage system (mullion drained) drainage diverter
Thermally broken.

Mullion-Transom step-cut & sealed by EPDM moulding.

Ladder (unit) construction or stick build.

Moulded EPDM corners available.

Continuous pressure plate gasket.

Glazing clamping system into DG unit.

Continuous pressure plate gasket.
0. Glass setting Block

SLONOUNRAWN

Fabricators Guide

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

cap

11 (2 Sided SGV)

Exploded typical detail

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Subject to modifications.

Changes reserved

Sous reserve de modifications

Anderungen vorbehalten

Issue: 05

Date :

10-16



( 7 ) Installation

Exploded typical details Comar 6EFT
Four sided structural EFT (4sided SG)

Subject to modifications.

=
L

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Details:

[y

One substructure for all curtain wall types,

Fully Capped, 2sided SGH, 2sided SGV & 4sided SG.

Controlled drainage system (mullion drained) drainage diverter/cover
Thermally broken.

Mullion-Transom step-cut & sealed by EPDM gasket.

Ladder (unit) construction or stick build.

Moulded EPDM corners available.

Joint cruciform gasket.

Glazing clamping system into DG unit.

Glass setting block

CONOUAWN

®

Fabricators Guide

Changes reserved Z

Sous reserve de modifications

Anderungen vorbehalten C O m a r‘|

Issue: 05
Date: 10-16 ARCHITECTURAL ALUMINIUM SYSTEMS



Installation ( 7/ )

Comar 6EFT Fixed between floors

)

c

o

£

g

n Aluminium plate supplied S
by others. Size of plate o

and anchor bolts to be _Ej‘

* determined by site =
[}

conditions and be

approved by a structural
engineer

7.04

Fabricators Guide

Top mullion sleeve
(when fixing between floors)
height to be approved by
structural engineer

Ty
1366
@ 1 ‘t M )

and/or

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

T

1348 = thermal expansion

For mullion sleeve/spigot
configurations

Bottom mullion sleeve
height to be determined by
structural engineer

Aluminium plate supplied
by others. Size of plate

and anchor bolts to be
determined by site
conditions and be

* *
Standing Construction

camanr

ARCHITECTURAL ALUMINIUM SYSTEMS

approved by a structural
engineer

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16



Brackets & Couplings

Subject to modifications.

I
O

Bracket fixed
Wind /dead load

o

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,

All other rights reserved.

Bracket fixed
Wind /dead load

Bracket fixed
Wind /dead load

T

= thermal expansion

Single Field Span

7)

Installation

Two Field Span

Propped Construction

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16

Comar 6EFT

ﬂ ‘
Qe
Bracket fixed
Wind /dead load

o

7.05

Bracket (Sliding)
Windload

Fabricators Guide

Bracket fixed
Wind /dead load

caomanr

ARCHITECTURAL ALUMINIUM SYSTEMS



Installation

Comar 6EFT

7.06

Fabricators Guide

Single Field Span

e '}>
///;/'\/

Vi

camarnr

ARCHITECTURAL ALUMINIUM SYSTEMS

Xk

Bracket fixed
Wind /dead load

Bracket fixed
Wind /dead load

0
- O°
Bracket fixed
Wind /dead load

1

= thermal expansion

Brackets & coupling

Bracket fixed
Wind /dead load

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Bracket (Sliding)
Windload

| Bracket fixed
Wind /dead load

Two Field Span

*
Hanging Construction

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16

Subject to modifications.



Subject to modifications.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Changes reserved Z

( 7/ ) Installation

Brackets & Coupling Comar 6EFT

Coupling Sleeve ’

1368 and/or 1366 O

(1368 shown) ‘ ‘
Apply sealant underneath o ‘
EPDM expansion moulding O ﬂ

7
EPDM )
Coupling expansion

moulding EFT 2030

— 1  Wall bracket
5 specified by
: structural
engineer
Apply Arbomeric MP20 sealant ‘
underneath EPDM expansion 8
moulding ‘ @J 0
i O ‘
‘ o
—@ Mullion joint |
L I
Pressure plate & L — |
@ adaptor joint r ] ‘
| Staggered Joints| x|
5) o |
@ Gasket joint ‘ Q ”
* y
] As specified
L o by
@ Cover cap joint O/‘ structural
= thermal expansion engineer
1 | . ,
Hanging Construction
T

Sous reserve de modifications

Anderungen vorbehalten

Issue: 05

Date:

10-16

7.07

Fabricators Guide

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS



Installation (%

Comar 6EFT Brackets & coupling

Subject to modifications.

7.08

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,

All other rights reserved.

Wall bracket
as specified by
structural engineer

Fabricators Guide

As specified by
structural engineer

T

= thermal expansion

1

* *
Sliding bracket

Changes reserved
Sous reserve de modifications

C o m a r\ Anderungen vorbehalten

Issue: 05
ARCHITECTURAL ALUMINIUM SYSTEMS Date: 10-16




Subject to modifications.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,

All other rights reserved.

N

Cover cap
expansion joint
to be 50mm
minimum below
pressure plate
joint

Optional 149
47 x 50mm
back plate.

Glue with
adhesive
SEO007

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16

sleeve positioned
central to expansion
joint (min. length
600mm)

S\

7)

Installation

Mullion movement joint
preparation

Internal mullion

Drainage diverter to be
located at transom
above expansion joint
and sealed with
Arbomeric MP2(3j

AN

/
v

o

o

/

Y

RN

Pressure plate

expansion joint to

Comar 6EFT

Anchor bolt to
structural
engineers
specification

Movement joint to suit
structural engineers
requirements +
expansion joint. 10mm
over all minimum.

Expansion joint 2030
to be installed at
every mullion joint

be 50mm minimum
below mullion joint

Notes: Bond breaker tape required to
spigot section at position of
mullion joint and to glass at

pressure plate joint

Gaskets omitted for clarity

caomanr

ARCHITECTURAL ALUMINIUM SYSTEMS

7.09

Fabricators Guide



Installation

*suonesyipow 03 33fqns ‘paAJtasal s3ybi 1ayio ||y

‘Ajied paiyy Aue o3 uonedlignd 40j 40 uondnpoudad ‘asn sil 10y
pa4inbaa s1 Juasuod uaIM Jolid 3Soym ‘p3] SWDISAS apeded oing
‘143 ul pa3isaA sI buimeldp siyz jo diysiaumo pue 3ybriAdod

Mullion coupling 2030

.
|
m—
L__J

Comar 6EFT
.10

7

Mullion joint —— @

A2 .
N\

N
W/

Arbomeric

MP20 A
)
. X

Sealant to be applied at drainage channel in the upper mullion
to all shown edges so the mullion coupling is sealed on all sides.

apIn5 siaojedlige4

Changes reserved

Sous reserve de modifications

Anderungen vorbehalten

comanr

ARCHITEGTURAL ALUMINIUM SYSTEMS

©0
i
1
n o
o~
o e
=
$a
- 0



Subject to modifications.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

7))

Installation

Fixing bracket hole preparation

1070

85 mm mullion

1072

105 mm mullion

1069

115 mm mullion

1073

125 mm mullion

1074

135 mm mullion

1075

150 mm mullion

1076

150 mm mullion

1077

175 mm mullion

1085

175 mm mullion

1080

195 mm mullion

1082

210 mm mullion

dC] M
5
JC =
J0]
= |
a0
d
==
JOd
0 U]
P w—
ojm ||
7 v
P —
O
d0]
el
s |
] |
Pl m—
a0
dC]
=]
J0
J0)
J0
d
pr—
J
d
po— |
L S
=
JUd n

1087

225 mm mullion

dC]
P m—
J

1090

275 mm mullion

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05

Date:10-16

2 x @15
PROFILE
CLEARANCE
HOLES

CENTRE LINE | _

OF BRACKET

Comar 6EFT

L oo d

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

/.11

Fabricators Guide



Installation

7))

Comar 6EFT

1 Back Plate
2 Guide Strip

7 . 12 3 Sleeve Channel
4 Bearing Tube
5 Locking Plate

6 Anchor bolts & nuts %
4

Fit anchor bolts (6) specified by your structural

engineer to the structure. <> Q
6

to the center of the mulli

Insert the bearing tubes

Fabricators Guide

Insert the sleeve channel (3) into the back plate (1)

Align the sleeve channel

the pre-drilled holes in the mullion.
Insert the fixings one in each direction through the

mullion and bracket and secure with the lock nuts
upon alignment of the mullion.

Insert the glide strips (2) fully into the back plate (1). /P

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

pre-drilled holes (See page 7.17)

Fixing bracket instructions

Page 1

<

Offer the back plate (1) to the structure and line up

on and about the center of

the mullions pre-drilled fixing holes.

Secure the back plate (1) with the locking plates
(5) and the anchor bolt nuts (6) as shown.

To aid insertion of the sleeve channel fit the glide strips
(2) into the back plate (1) leaving them proud by 5 to 6 mm
and open out the ends as shown.

(4) into the mullion profiles

(3) and locking plates (5) with

&)

Mullion not shown for clarity. \L

<

d

equire

Subject to modifications.

for its use, reproduction or for publication to any third party.

Euro Facade Systems Ltd, whose prior written consent is r
All other rights reserved.

Copyright and ownership of this drawing is vested in EFT,

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16



Page 2

Subject to modifications.

+15 tol
|

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

0 tol

Fixing bracket instructions

-15 tol

28
OMINAL

1 Back Plate
2 Bearing Plate
3 Sleeve Channel
4 Bearing Tube
5 Locking Plate
6 Packing Plate
7 Anchor bolts & nuts

0 tol

0 tol
packers

to suit
-15 tol

+15 tol
packers

to suit
0 tol

G

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16

/ ) Installation

6

2

Fit anchor bolts (7) specified
by your structural engineer to the structure.

Offer the back plate (1) to the structure and line up
to the center of the mullion and about the center of
the mullions pre-drilled fixing holes.

Secure the back plate (1) with the locking plates
(5) and the anchor bolt nuts (7) as shown.

Apply aluminium glue (SE007) to sleeve channel and
insert into the back plate (1).

Insert the bearing tubes (4) into the mullion profiles
pre-drilled holes (See page 7.17)

Align the sleeve channel (3) and locking plates (5)
with the pre-drilled holes in the mullion.

Insert the fixings one in each direction through the
mullion and bracket and secure with the lock nuts
upon alignment of the mullion.

Plumb level the mullions, insert the Ju—
packing (6) and bearing plate (2) and //\,

secure tightly using No2 M6 screws. / )

-,/

Comar 6EFT

Fabricators Guide

caomanr

ARCHITECTURAL ALUMINIUM SYSTEMS



Installation ( /

for its use, reproduction or for publication to any third party.

Comar 6EFT Wall fixing bracket :
(jamb) CW671 5
Page 1 i1
é’é
J_ R
: : | 1
o 0 2
P | P —— — i S<
o I IR J S5
3| |
| i -
| | = Y
7.14 . l : :
| | g5
| | £3
| I 28
: : I
| | 2 S
| | -
| |
| |
| |
| |
| |
| |
| |
| |
) | |
= I I N
) T T v
s, . | el
» — | |
= T 1ol
O 82.5 30
(;Q 4 x M6 TAPPED HOLES
)
) ; I I )
8 2 No. M6x20mm SCREWS
= 4 x M6 CLEARANCE HOLES FX676XSLF
Q0 (CUT FROM CS904)
© T 4 No. M10 Locking Nuts.
L & 69‘ 3@t ([I) FX673XSLF
R
69 = 2 No. M10 x 90mm Hex Head Bolts.
- FX672XSLF
Il 8
Dite &
I U:]j 4 No. M10 Nylon Washers.
FX674XSLF
R e e
Wia\
(CUT FROM CS903) (CUT FROM CS903) X

Changes reserved
Sous reserve de modifications

C o m a r\ Anderungen vorbehalten

Issue: 05
ARCHITECTURAL ALUMINIUM SYSTEMS Date: 10-16

Subject to modifications.

All other rights reserved.



12.5

1 No. 2 1/4" x 1/4" Aluminium Flat

CLOOBXSLF

Packers are purchased as separate items.

2 No. Aluminium Tubes.

FX675XSLF

8

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue
Date:

: 05

10-16

51

1 2mm packer - CLO12XSLF (pack of 10)
1 3mm packer - CLO13XSLF (pack of 10)

1 No
1 No
4 No
1 No
2 No
4 No
2 No
4 No
2 No

KIT COMPRISES

. CS901 Component

. CS902 Component

. CS903 Components

. Aluminium Flat. CLOO6XSLF

. Aluminium Tubes. FX675XSLF

. M10 Locking Nuts. FX673XSLF

. M10 x 90mm Hex Head Bolts. FX672XSLF
. M10 Nylon Washers. FX674XSLF

. M6 x 20mm Screws.FX676XSLF

Py
V )

&/

carrma

7 ) Installation

8 - - - -

. Wall fixing bracket instructions Comar 6EFT

o2
;28 (jamb) CW671
<825
3¢2¢ Page 2
.69
> 48_, -8 €
0553 -

Sa o

£i2 < 4 2 I I
S5 T 7 | i

> O
ik S — — 1 S
gg g{% : 7 n 1 5
2@ OT
354 r 2 T -
Zo=b - J i L
SRRE: &

32 54.5
46
Aluminium glue to be
(CUT FROM CS902) applied before assembly
(SE007)
S | L 8 Not supplied in kit.
N\ T N\
M 2xM6 CLEAR HOLES

Fabricators Guide

r

ARCHITECTURAL ALUMINIUM SYSTEMS



Installation

3
Comar 6EFT Wall fixing bracket 3.
(intermediate) CW672 :is
£8:%
Page 1
ggot
15 30 2ECe
22 90+
| | $588
< E_g -
|
Q .
— 54,
7 " 1 6 T | | EE §§
28 9°
| | SZ &=
| |
LQ\
ol
P, I
v M '
O f
— 46
-
(D 2xM6 TAPPED HOLES
4
(Q (- : | ' : )
@)
- 2xM6 CLEAR HOLES
0] (CUT FROM CS901) ‘
O
| - 2 No. M6 x 20mm SCREWS
0 _ FX676XSLF
© < @\
L T AN
Y 4 No. M10 Locking Nuts.
2 E % FX673XSLF
O 8 TT
2
| 2 No. M10 x 90mm Hex Head Bolts.
9 FX672XSLF
4 No. M10 Nylon Washers.
|\ e o FX674XSLF

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

(CUT FROM CS903)

©

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16



12.5

1 No. 2 1/4" x 1/4" Aluminium Flat

CLOOBXSLF

Packers are purchased as separate items.

2 No. Aluminium Tubes.

FX675XSLF

8

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue
Date:

: 05

10-16

51

1 2mm packer - CLO12XSLF (pack of 10)
1 3mm packer - CLO13XSLF (pack of 10)

1 No
1 No
4 No
1 No
2 No
4 No
2 No
4 No
2 No

KIT COMPRISES

. CS901 Component

. CS902 Component

. CS903 Components

. Aluminium Flat. CLOO6XSLF

. Aluminium Tubes. FX675XSLF

. M10 Locking Nuts. FX673XSLF

. M10 x 90mm Hex Head Bolts. FX672XSLF
. M10 Nylon Washers. FX674XSLF

. M6 x 20mm Screws.FX676XSLF

-

s

carrma

/ ) Installation

8 - - - -

. Wall fixing bracket instructions Comar 6EFT
02
r2&¢  (intermediate) CW672
g%
3¢ Page 2
.53
>§BE
0553 -

Sa o
£i2 - a N 1 -
S5 N 7 i i
> O
=5 f
LEJgL D5
1H . - - - 2
2082 = 7.17
L@ 0T
354 r 2 T -
2o0=% - J i L
SRRE: &
32 54.5
46
Aluminium glue to be
(CUT FROM C5902) applied before assembly
(SE007)
S | L 8 Not supplied in kit.
N\ T N\
M 2xM6 CLEAR HOLES

Fabricators Guide

r

ARCHITECTURAL ALUMINIUM SYSTEMS



Installation (%
Comar 6EFT Wall sliding bracket 3.
(jamb) CW673 get
Page 1 3is
NS e3 2
g 34
7.18 =
& P -
82.5 30
)]
O
- |
Q) @ Q: : ) (cuT FROM CS904)
0
|-
@)
)
©
O I
-
.‘% g L —3x 211
L &’
) 8 2
Il 8
Bis B

(N e |\ bl g
q v

(CUT FROM CS903) (CUT FROM CS903) 4 No. Req'd cut from GKO055.
These items are not supplied in the kit.

Changes reserved
Sous reserve de modifications

C o m a r\ Anderungen vorbehalten

Issue: 05
ARCHITECTURAL ALUMINIUM SYSTEMS Date: 10-16

Subject to modifications.

All other rights reserved.



/ ) Installation
8 - - -
:.  Wall fixing bracket (jamb) CW673 Comar 6EFT
;28 Page 2
E8ER
g5
H9co
¢5 ok
22es
2224
$58%
\.D._Tga
£i2 SHs
u-g't 4 L
25 2 S > . -
§,98
£S5
- 3
oh §2 e - — — — S
s 7.19
=
2o 3 4 N I I
S2 8% N J ] L
S
32 55
(CUT FROM CS902) FlfT—L— Q
O
3
)
O
@)
)
1 (0]
4 No. M10 Locking Nuts. .Sg
E } FX673XSLF C
. | ‘ a
1 ©
. LL
\ 2 No. M10 x 90mm Hex Head Bolts. 2 No. Aluminium Tubes.
FX672XSLF ‘\ ‘ o FX675XSLF

Ej 4 No. M10 Nylon Washers. ‘
FX674XSLF

KIT COMPRISES

7 0% 1 No. CS901 Component

1 No. CS902 Component

4 No. CS903 Components

2 No. Aluminium Tubes. FX675XSLF

4 No. M10 Locking Nuts. FX673XSLF

2 No. M10 x 90mm Hex Head Bolts. FX672XSLF
4 No. M10 Nylon Washers. FX674XSLF

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16

-

s

caomanr

ARCHITECTURAL ALUMINIUM SYSTEMS



Installation ( / )

Comar 6EFT Wall sliding bracket
\ . (intermediate) CW674
Page 1

11

7.20

NF

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

65

30 95 30

0]

O - ! ! )

5 S [ e

(D (CUT FROM CS901)

n

| -

O

e

©

U ——

[ - o L—3 x 311
0 « 9/

© q

L. S

S 3 130
o
(40}
| s
L] v
4 No. Req'd cut from GKO055.
(CUT FROM CS903) These items are not supplied in the kit.

Z,/ Changes reserved

Sous reserve de modifications

C O m a F Anderungen vorbehalten

Issue: 05
ARCHITECTURAL ALUMINIUM SYSTEMS Date: 10-16

Subject to modifications.



Page 2

Subject to modifications.

Wall fixing bracket
(intermediate) CW674

7))

11

20

T

%

Installation

Comar 6EFT

60

11

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

T

%

20

FX673XSLF

Y\
AJ

FX672XSLF

FX674XSLF

©

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16

4 No. M10 Locking Nuts.

Ijj 4 No. M10 Nylon Washers.

| 2 No. M10 x 90mm Hex Head Bolts.

100

7.21

32 55

(CUT FROM CS902) ﬂ )]
O
)
n
| -
O
)
1 I ©
O
| -
0
| L

2 No. Aluminium Tubes.

\ ‘ FX675XSLF
KIT COMPRISES
N
6{5\ » 1 No. CS901 Component
1 No. CS902 Component
4 No. CS903 Components

2 No
4 No
2 No
4 No

. Aluminium Tubes. FX675XSLF

. M10 Locking Nuts. FX673XSLF

. M10 x 90mm Hex Head Bolts. FX672XSLF
. M10 Nylon Washers. FX674XSLF

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS



Profile Sections ( / )

Comar 6EFT Direct fix to steel
X , fixing lug preparation

Subject to modifications.

Size and details of
steel & fixing to

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,

be determined by > _

structural g

engineer %

7.22
o

/L J E

~ 8

-

Aluminium to steel isolator
(supplied by others)

FﬁQ Profile 1425 (fixing lug) to be cut
13.2 and drilled as shown below

77—

N S .

q) \
.-9 1mm spring washer
= (supplied by others)
N Fixing bolt (supplied by others) to
w @ . structural engineers specification
O
o+
(C 1425
L_) [1425] Profile 1425 to be cut and drilled
(- to create fixing lugs as shown
0
L
o
\\ (%)
R Hole size to suit fixing bolt size
\>/and to be drilled centrally on cut
| | ~ fixing lug
N
\ s
~ X
\ ’C)
N
/. ;/;/\/\
/// /"

j Changes reserved

Sous reserve de modifications

C O m a r\ Anderungen vorbehalten

Issue: 05
ARCHITECTURAL ALUMINIUM SYSTEMS Date : 10-16



Subject to modifications.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,

All other rights reserved.

Changes reserved

Direct fix to steel

Fixing lug spacing

1025

Installation

1125

Centre of fixing lug to be
positioned 100mm from the end
of each mullion and transom.

Fixing lug spacing then depends
on height of curtain walling.

Areas of curtain walling

<15m in height

>15m in height

Fixing lugs at
600mm centres
max.

Fixing lugs at
400mm centres
max.

Sous reserve de modifications

Anderungen vorbehalten

Issue: 05

Date:

10-16

Comar 6EFT

4
A

100

7.23

NS
0
A=,
=
O
= e
|
O
)
(
! 9
| -
Q
©
L

100

.
L //’7

caomanr

ARCHITECTURAL ALUMINIUM SYSTEMS




Installation

7))

Comar 6EFT
7.24
O
G) L
3
@,
O
0
| -
o)
)
8 N M
-
fa)
©
L
O
1425 [ |5
[ D |
1025
e

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

Direct fix to steel
Fixing lugs

Subject to modifications.

1. Aluminium to steel seperator,
fixing lug and 1mm spring
washer to be fixed to steel
using suitable fixing as
approved by structural
engineer at spacing as stated
on page 7.28.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

2. Mullion/transom profile to be
placed over toggles.

3. Toggle to be twisted through 90°

Example of Lug Tool

(not supplied by COMAR)
This tool to be made to suit by Fabricator

4. Toggle in final position

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16



Subject to modifications.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,

All other rights reserved.

7))

Installation

Direct fix to steel
Internal sealing

Gasket seal

Gasket seal

Comar 6EFT

The internal seal between the aluminium
profile and the steel can be a gasket or
silicone sealant.

Silicone seal

Aluminium to steel isolator
thickness will affect which gasket should

4mm WEDGE GASKET
GREEN COLOUR STRIP

Steel RHS

P’

Gasket seal

Aluminium profile 1025

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05

Date:

10-16

Silicone seal

5.2mm WEDGE GASKET
BROWN COLOUR STRIP

be used.
Isolator Gasket to | Wedge size
thickness use
1mm GK405 4mm
2mm GK407 5mm
3mm GK408 6mm
GK405 GK407 GK408

6mm WEDGE GASKET
PINK COLOUR STRIP

Gasket joints to be bonded using
EPDM bonding compound.

Fit the backing rods as shown.
(supplied by others)
Apply the silicone sealant as shown.

7.25

Fabricators Guide

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS



Installation

7))

Comar 6EFT

7.26

Fabricators Guide

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

Installation methods

Installation Method: 1

Mullions followed by tfransoms.

A A il

o
i F i

A
Ll
o
Ll

Installation Method: 2

Elements (ladders) followed by intermediate
fransoms.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Subject to modifications.

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05

Date:

10-16



Subject to modifications.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Installation

Split mullion details

1230

Fixing profile 1033

Fixing screw 3028
(3.5 x 13) to be at
500mm centres.

Mullion-transom fixing

For split mullions, either spring loaded cleats (2310) or
precut transom cleats can be used to fix to the mullions.

Note: With spring loaded cleat 2310, the 45mm transom
cannot be used with a split mullion.

Drainage diverter installation (for split mullions only)

Where a drainage diverter should be installed according to
page 7.37, opposite sides of the drainage diverter must be
cut away and positioned at 2 different transom levels.

Comar 6EFT

2187

)
)
(e

1033

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05

Date:

10-16

1033

7.27

Fabricators Guide

caomanr

ARCHITECTURAL ALUMINIUM SYSTEMS



Installation ( 7/ )

Comar 6EFT Mullion - Transom
connection (Option 1)

Notes:

1. Apply sealant to transom fixing screws and
gasket groove below transom seal.
. 2. Apply sealant into glazing groove and fit
G|a2|ng gaSket corner mouldings.
Apply sealant to gasket ends and bring
together.

Subject to modifications.

Mullion

7.28

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

apply sealant into

Apply Sealant glazing groove at
3021 x5 s/ corners
(3.9x16)

Transom

Corner N
mouldings

Fabricators Guide

Apply Sealant

/ Glazing gasket

j Changes reserved

Sous reserve de modifications

C O m a r\ Anderungen vorbehalten

Issue: 05
ARCHITECTURAL ALUMINIUM SYSTEMS Date : 10-16




(Option 2)

Subject to modifications.

(with spring loaded transom cleat)

Glazing gasket

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Apply Sea
3021x2

AU
\ U

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16

(3.9x16)

0=y

( / ) Installation

Mullion - Transom connection Comar 6EFT

Notes:

1. Apply sealant to transom fixing screws and
gasket groove below transom seal.
2. Apply sealant into glazing groove and fit
corner mouldings.
3. Apply sealant to gasket ends and bring
together. 7 . 29
4. Glue spring cleat 2310 into position.

Mullion
lant apply sealant into
an glazing groove at
3022 / corners

Transom

Fabricators Guide

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS



Installation

Comar 6EFT

Glazing gasket

7.30

7))

Mullion - Transom
connection (Option 3)

(for making ladder units)

(for transoms installed between mullions or ladders)

Notes:

1. Apply sealant to transom fixing screws and

gasket groove below transom seal.

2. Apply sealant into glazing groove and fit

corner mouldings.

3. Apply sealant to gasket ends and bring

together.

Mullion

3021 x>
(3.9x16)

Fabricators Guide

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

Uz,

Apply Sealant

.~

Apply Sealant

3022 (4.8 x 60) (for ladder unit only)

Pre cut cleat from profile 1300

(Pre-cut & drilled cleats available for 85mm
transom & above only, for other transom sizes or
facetted joints, cleat must be cut)

3025 x4 (4.8 x 13)

Transom

\apply sealant into
glazing groove at
corners

Glazing gasket

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Subject to modifications.

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date : 10-16



7))

Installation

Mullion - Transom

corner mouldings.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,

. together.
g Isolator *

Fixing lug (1425)

‘3 Spring washer *

5 Bolt *

gasket groove below transom seal.
2. Apply sealant into glazing groove and fit

Connection (Option 4)

g (Direct fix to steel or timber)

T Notes:

e nNotes:

g 1. Apply sealant to transom fixing screws and

Comar 6EFT

3. Apply sealant to gasket ends and bring

7.31

Steel sections™

/O
Mullion (1025) M
5
/O
Apply%@’@/@
Sealant

3021x2

(3.9x16) | ©
2028
\

apply sealant into
glazing groove at

R

Transom (1125)

corners
it~
Apply
Sealant g,
g

* Supplied by others.
Steel and bolts to be determined
by structural engineer.

kGIazing gasket

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

Fabricators Guide



Installation

Comar 6EFT

Detail A

Q
O
- @4
O .
0 Bl o
¢!
NO)
O
9 i
.
0
©
L

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

Heavy glass support

Connection (Option 5)

Detail A

N

TO ALL JOI

- 2403 12mm double glazing clal

- 2155 22mm extension gasket
- 2203 34mm thermal break
- 1305 transom cleat

- 2409 setting block support

- 3029 5.5x23mm special screw
- 3004 5.5x19mm socked screw
- 3095 M6 DIN9021SS washer

- 3017 5.5x16 countersink screw
- 3094 SS countersink washer

- 3021 3.9x16 special screw

- 150mm wide glass shims

- 3042 M12 SS washer

GOLREOCOEREOEEO

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

APPLY SEALANT

NTS

mp

- 140x series 12mm glass setting block

- 1891 11x3 59.5mm aluminium tube
- 1890 11x3 50mm aluminium tube

Subject to modifications.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Issue: 05

Date :

10-16



4(7\> Installation

Heavy glass support Comar 6EFT

7.33

>
t2&: Connection (Option 5)
w vo
S8%F
el —
]
O w
mt =2
5 xé‘g APPLY SEALANT
-é 5 TO ALL JOINTS
s 30
(o)
2E 3 Detail A
B
[e] o
°Th §
5yt
28 %
oo 3
Sa e

Euro Facade Systems Ltd, whose prior written consent is required

All other rights reserved.

- 2403 12mm double glazing clamp

- 140x series 12mm x 400mm
glass setting block

- 2155 22mm extension gasket

- 2203 34mm thermal break

- 1305 transom cleat

- 1891 11x3 59.5mm aluminium tube

- 1890 11x3 50mm aluminium tube

- 2409 setting block support

- 3029 5.5x23mm special screw

- 3004 5.5x19mm socked screw

- 3095 M6 SS DIN9021washer

- 3017 5.5x16 countersink screw

- 3094 SS countersink washer

- 3021 3.9x16 special screw

- 150mm wide glass shims

Fabricators Guide

®
® Detail A

o
@
OROEOCEEOREGE ®O

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten C O m a r‘|

Issue: 05
Date: 10-16 ARCHITECTURAL ALUMINIUM SYSTEMS



Installation

L7

7.34

Fabricators Guide

Comar 6EFT

Option 1

Screws EFT-3021

Option 2

Spring loaded cleat
EFT-2310

or

Screw EFT-3022

Tooling: Com6-EFT-Jig1-

Option 3 or 3a

// A’\/'/J

Precut & drill cleat
profile EFT-1300 to length

Option 4

For direct fix to steel details
refer to drawings

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

(]
[—

el
()

Mullion-transom B
Connection options ey
3 =

95 oF

22es

: SN
Note: Glass weight max 100Kg £;3%¢
588

£E5

53%

28 2.

For 45mm Transoms only @; EE
seds

x ) ! 338
: F 0 ge
3021 “ FL S5
E8&¢C

.gu«gzg

Ladders / units §£:2

Ow e <

Note: Glass weight max 150Kg

2310

il

Note: Glass weight max 250Kg‘

3022
I 1300

P
.
<Ipjip

A | g

<))

1300

3021

3021

connection.

Transom seal EFT-2028 to be
installed at each mullion-transom

All screws to be sealed.

Changes reserved

Sous reserve de modifications
Anderungen vorbehalten

Issue: 05
Date: 10-16



Subject to modifications.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Mullion - Transom
Connection

Option 5

Glass weight max. 450 kg

19

?11,5

Note:

Cut cleats are for
project only and
are not held in
stock. Cut cleats
will be subject to
a longer lead
time.

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue:
Date :

05
10-16

wa Installation
Comar 6EFT
Mullion
2
d
_ &of ___4@
Transom 30)4I7 o1 !
25 D
I
&, s
Transom Q
©
L -
17,5 i D A-A (D
| o)
1305 S = )
11,5 22 | 911,5
e eus 5
©
LL
Cleat Reference Transom L (mm) | D (mm) | D1(mm)
2565 1166 - 125mm 104 75 70
2566 1152 - 135mm 114 75 70
2567 1145, 1154 & 150mm 129 100 95
2568 1147 - 175mm 154 125 120
2569 1156 - 180mm 159 130 125
2570 1157 - 195mm 174 145 140
2571 1148 - 200mm 179 145 140
2572 1158 - 210mm 189 161 156
o
VoY
.

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS



‘suonedyyipow 03 303[qns ‘pansasad syybu uayjo ||y

*Ayied paiyy Aue o3 uojzedlignd Joj 1o uopdnpoddad ‘asn sj Joj
paJinbau S| 3uasuU0D ua3IIM Jolid asoym ‘py] SWSISAS apedeq oang
‘143 ul paisanA s| buimedp siyj jo diysiaumo pue 3ybrAdod

Future Additions

Fabrication
Comar 6EFT

7.36

apino siojedlige

A

Changes reserved

Sous reserve de modifications

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

Anderungen vorbehalten

10-16

Issue: 05
Date :



External Corner

Subject to modifications.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Facetted transom preparation

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16

Installation
Comar 6EFT

7)

\Ui

0.5mm gap between
transom and mullion
must be allowed for
expansion

\ \\
\ \ \
\\ '
\ ) v
\
\ AT
\\ \\ )
\\ \\\ O]
\ \
\ \ g
\ \
\\L f =
AL — L
-
- - Transom to Mullion connection
Channel fixing cleat
types 1300

Transom to be cut
around adaptor to
required angle

Glazing adaptors to be installed the full
height of the mullion. Fixed using 3021
(3.9 x 16) central behind mullion
Transom to be cut parallel to
mullion to enable drainage v
diverter to be installed /o )

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS



Installation

7))

Comar 6EFT

Facetted transom preparation
Internal Corner ‘

/O.Smm gap between /1]7

transom and mullion

7.38

Euro Facade Systems Ltd, whose prior written consent is required

Fabricators Guide

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

Fed
05 must be allowed for $58
expansion So35
£2
Transom to Mullion connection 53 8
N channel fixing cleat g §
| > type 1300 sh s
| £8 8
) =5
| Sad e
i
<TTmY -
~
| ~
~
| ~
| S
/ N
| / RN
/ N
~
<t / NN
Transom to be cut // ~N
around adaptor to // >>
required angle /// ///
) /
/
//
//
//
//
//
//
//
//
/

Glazing adaptors to be
installed the full height of <
the mullion. Fixed using >
3021 (3.9 x 16) at transom
positions

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date : 10-16

Subject to modifications.

All other rights reserved.



7/ ) Installation

Fixing facatted transoms Comar 6EFT
External Corner

Subject to modifications.

7.39

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Fabricators Guide

Butyl rod

@7 for 15° or less 2 X Screw 3027 (3.9x19)

@8 for above 15° must be used for facetted

2No x 10mm in transoms using adaptors —

length 1331, 1332, 1333 and 1334 o~
(supplied by others) //;' /l

Changes reserved j

Sous reserve de modifications

Anderungen vorbehalten C O m a r\

Issue: 05
Date: 10-16 ARCHITECTURAL ALUMINIUM SYSTEMS




Installation ( / )

Comar 6EFT Fixing facetted transoms
Internal Corner

7.40

)

2

-

(D 1
0

s_

s L
)

©

S

-

0

©

L

Transoms to be
fixed to adaptor with
screws 3021 (3.9x16)

=
/ ///\/\

/‘/ /

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

Subject to modifications.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

For exact angle adaptors ie 7.5°,
15° etc, use transom pad 2028.
For all other angles use butyl
rod, @8mm, 27mm long,
supplied by others.

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date : 10-16



/ ) Installation

Facatted transom Comar 6EFT

Cleat Preparation
External Corner

Subject to modifications.

Any facetted transom must be held in place by cleats made from profile
1300 (or 1305 if specified)

Same cleat preparation can be used for outward (reflex) angles.

7.41

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Profile 1300 to
N be cut to
~ 1300

@5 holes to

be drilled _required length

~, based on

transom used ()]
and angle o
=
O
N 0
N
A\ O
N\ )
\ ©
N O
© | -
. 0
7
e
e

4 x @5 holes to
be drilled.

lazing adaptors to be installed the full
height of the mullion. Fixed using 3021
(3.9 x 16) at transom centres

Changes reserved j

Sous reserve de modifications

Anderungen vorbehalten C O m a r\

Issue: 05
Date: 10-16 ARCHITECTURAL ALUMINIUM SYSTEMS



Installation

7))

Comar 6EFT

7.42

Fabricators Guide

Screw 3004 (5.5x19) with
washer 3091 at 100mm
from top and bottom of
mullion and 300mm
centre to centre

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

Fixing adaptors
1264 & 1265

Gasket 24

Screw 3004 (5.5x19) with
washer 3091 at 100mm
from top and bottom of

|

—

90

iy =Y S

Subject to modifications.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Gasket

2490

<

mullion and 300mm
centre to centre

0 Wﬁ

Changes reserved

Sous reserve de modifications
Anderungen vorbehalten

Issue: 05
Date: 10-16



< 7 > Installation

EPDM membrame Comar 6EFT
Transom Sill, Head & Mullion preparation

Subject to modifications.

Small section of front 7 43
Internal mullion sleeve
capping removed

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

I Q
O
,— Transom 8
n
-
| @)
)
©
o
-
Q0
1 ©
L
urTL

Ensure 2033
Groove for
membrane is
aligned to
mullion slot

EPDM membrane

runs through

3mm slot in

mullion

EPDM Membrane
with arrowhead

Changes reserved Z

Sous reserve de modifications

Anderungen vorbehalten C O m a r‘|

Issue: 05
Date: 10-16 ARCHITECTURAL ALUMINIUM SYSTEMS



Installation < V4 >

for its use, reproduction or for publication to any third party.

All other rights reserved.

run through mullion

Comar 6EFT EPDM membrame 2
Curtain wall perimeter g
Preparation 3
**************************** 1 8
Mullion | Sy
7.44 FX7004/@400 centres EE
Y
|
EPDM membrane |
runs up mullion |
Perimeter |
\
Mullion perimeter ‘
'9 \
-
(D Transom
- S
C B T 1 ]
O ,‘ Z i“'_“
4&; I | |
O \ \
w w
@]
© D | |
L \ |
Internal mullion | | @ﬁlOO centres
sleeve, front ) | |
capping removed to |
allow membrane to b ‘
I
\
\
\
\
\
\

o\o(\\
EPDM membrane ¢
runs through
3mm slot in
mullion
— e e—— _.J k Arrow head is cut
P away at mullion
////\/ 3mm Cut out mullion

~— |
|
1

Changes reserved
Sous reserve de modifications

C O m a P Anderungen vorbehalten

Issue: 05
ARCHITECTURAL ALUMINIUM SYSTEMS Date: 10-16

Subject to modifications.



7.45

Installation
Comar 6EFT

EPDM membrame
Mullion preparation
Slot cutting details

‘suonedyyipow 03 303[qns ‘pansasad syybu 1ayjo ||y

*Ajied paiyy Aue o3 uonediignd 404 10 uondnpoudad ‘asn sil 10)
pa4inbaa s| Juasuo0d uaIIM Jolid 9soym ‘p3] SWDISAS apeded oing
‘143 ul pa3isaA sI buimelap siyz jo diysiaumo pue jybriAdod

Transom shown for
reference purposes

apino siojedlige

41

Sous reserve de modifications
Anderungen vorbehalten

Changes reserved

ARCHITECTURAL ALUMINIUM SYSTEMS

©0
i
1
n o
o-
33
Vo
= 0



Installation

V4

Comar 6EFT

Apply Arbomeric
MP20 sealant
into glazing groove

Install gasket 2490 wherever
glazing adaptor is to be placed

7.46

Factory fitted glazing adaptor 1328
fixed with screw 3024 (4.2 mm x 25
mm) Max pitch of 1m. 2 off min.

Factory fitted glazing adaptor 1329
fixed with screw 3026 (4.2 mm x 32
mm) 2 No min. Centres not

more than 1m

Fabricators Guide

Factory fitted glazing adaptor 1330
fixed with screw 3028 (3.5 mm x 13
mm) Max pitch of 1m.

2 off min.

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

Glazing adaptors

|

Subject to modifications.

d, whlose prior written consent is required

=

for its use, reproguctiorr or tor publication to any third party.

Copyright and fwnership of this drawing is vested in EFT,
All other rights reserved.

Euro Facade Sylstem

Inject vertical glazing
adaptors at top with
sealant and install

% * CTC - 31 mm when

2490 the adaptor is bridging
a mullion coupling

adaptors
“
o
2
oo
*kN|©
s
o u= ©
F8 K
og ©
o
\ >
)
\\ ©
I’ ©
1] ([
C.T.C-51
Seal horizontal Horizontal adaptor
glazing C.T.C
adaptor-faces with
sealant
Install horizontal
glazing adaptor
| 2490
4] (]

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16



Subject to modifications.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Internal gaskets &
corners

Installation

Comar 6EFT

D € \.ﬁ -
Apply bonding =l 1)
compound into g
glazing groove 60.0 %
R | S
Q@
Q@
I
~—60.0—F
Install moulded s md
gasket corners
— B a— — Fﬁr“ -
® ®
N — K
[ B LL-—M—
1 1t

Cut EPDM glazing gasket to required lengt
mouldings +5% to ensure compression of

Bond corner to gasket joints H
using EPDM bonding compound E

h
t

I
A

between corner
he gaskets

1

(¢l

or a MS Polymer based sealant

Slide gasket into position and rs
clean off excess sealant

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05

Date:

10-16

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

7.47

Fabricators Guide



Comar 6EFT

10

DN — I
14

7.48

50

Installation ( 7/ )

Location of glass setting
blocks & temporary ;

glazing aids

EXAMPLE DETAIL
size / weight depends on glass

100

location block

Subject to modifications.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

glazing aid

Cha

W=z
® i
il
Glass setting block
Q
O
-]
n
O
@)
)
©
=
| -
0
©
L
ails
© Bl 20
® © T A ]i
=1 ]
Temporary fixed

nges reserved

Sous reserve de modifications
Anderungen vorbehalten

Issue: 05

Date:

10-16



Subject to modifications.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

V4

Fixing glazing insert and
fixing clamp

-

Drainage

Changes reserved

Sous reserve de modifications

20
A
© éﬂ =
= o
% — [00]
1390 -
2197

2200

2203

Compressed shape
after installation

Installation

Comar 6EFT

24

&

Glass setting block 2301
Glass setting block 2306 = 5+2=7mm

7.49

O

n

=] Fe——

Glass setting block 1409
Glass setting block 1411

<

Z_—:}b—‘d]

Glass setting block 1407
Glass setting block 1406
Glass setting block 1405
Glass setting block 1404
Glass setting block 1402
Glass setting block 1401
Glass setting block 1400

2175

LAOEQ)

19/21

Extruded shape

Anderungen vorbehalten

Issue: 05

Date:

10-16

Clamp EFT 2403

Extruded shape

19/21

Extruded shape
+ silicone join

N
=4+4+3=7mm
[ ————|
M

O]
=4+3=7mm 'D
)
O

[ ————|
n
<| ™ -
@)
2170 )
Silicone ‘U
9
-
0
©
LL

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS



Installation

Comar 6EFT

Location of glazing insert
fixing clamps and
glass setting block

/.50

5
i)
g
o
T ] S
8 <
g -
L ;
| ©
g
M o
% [ o
4 <
= )
i
oo ||| o
Glass setting :"r'nv 1011 2
block W‘ i
— — . ; 1
100
2403 o
RN in
. o
Detail : AN ><_
Detail : B~ g
o
I o
o <
N -
X
o ©
€
o
o
<

1 Glazing inserts (EFT 2401, 2402, 2405, 2416, 2418, 2420)

Fabricators Guide

mred

for its use, reproduction or for publication to any third part?‘

All other rights reserved.

Subject to modifications.

Copyright and ownership of this drawing is vested in EFT,
Euro Facade Systems Ltd, whose prior written consent is re

Location glazing insert and fixing clamps 2sided SGH (Two Sided Structural
Glazed Horizontal cover cap)

Left & right edges of glass: Glazing inserts to be located 150mm edge of glass to center of glazing insert at

either end. Inserts then spaced at 400mm max. center to center towards the center of the glass unit.

If the center of the glass unit is reached and there is more than a 400mm space between center of inserts,
you may go up to a max. of 450mm C.T.C. between those inserts.

Left & right edges of glass: Dependant on wind load, building height and local situation, the glass

manufacturer may approve that less inserts can be used. Transom C.T.C <700mm no clamps, C.T.C
700-1000mm 1 clamp, C.T.C 1000-1300mm 2 clamps, C.T.C 1300-1600mm 3 clamps etc.

2 Fixing clamp (EFT 2403)
To be fixed (with screw 5.5 x 23 - 3029 or 5.5x29- 3030)

3 Glass setting block (140x - series)
To be fixed (with screws 5.5 x 23, 3029)

Location and spacing of glazing inserts & glass setting blocks to be
approved by glass manufacturer.

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

Changes reserved

Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16



( 7 ) Installation

Location of glazing inserts Comar 6EFT
fixing damps and
glass setting block

Subject to modifications.

e
| —er

Euro Facade Systems Ltd, whose prior written consent is required
‘100mm Glazing Insert‘
i

for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,

Hard shim
o
(9}
2
a Clamp EFT 2403 %
o L] I
: G 7.51
£ n
E’ — L]
g
E B N 100 mm Glass
< | 100 Setting Block

¢

?r

Drainage Diverter

150

D

>
-
>
100mm Glazing Insert
I

B_B Detail : A

Fabricators Guide

4
[—
J

Bt

Screw 5.5 x 23, 3029

Thermal break 12mm EFT 2197 Clamp EFT 2403

(EPDM) Joint gasket 20 mm EFT 2175

(EPDM) Joint gasket 20 mm EFT 2182

Optional: Silicone Joint with
(EPDM) gasket 20 mm EFT 2170
- use bond breaker tape at
gasket / silicon joint o

Changes reserved j

Sous reserve de modifications

Anderungen vorbehalten C O m a r‘|

Issue: 05
Date: 10-16 ARCHITECTURAL ALUMINIUM SYSTEMS




Installation ( 7/ )

Comar 6EFT Location of glazing insert,
fixing clamps and
glass setting block

|

d

equire

Hard shim

100mm Glazing Insert

for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
Euro Facade Systems Ltd, whose prior written consent is r

Clamp EFT 2403 1
7 5 2 o| 1404
n [Tp]
—
30296
B 100 mm Glass
i 100 | Setting Block |
| |
 — ! T I —
— = = —lgT /5= = = =
Drainage Diverter
B
o
N
bl

=
(O] ]
>
100mm Glazing Insert
]

Detail : B

Gasket 2153

6mm thick, 100 mm length
2200 thermal break beyond B - B

Fabricators Guide

Screw 5.5 x 29, 3030

Gasket émm , 2186

Thermal break 18mm EFT 2200

(EPDM) Joint gasket 20 mm EFT 2175

(EPDM) Joint gasket 20 mm EFT 2182

|
o308
|
'
Optional: Silicone Joint with °

(EPDM) gasket 20 mm EFT 2170
o - use bond breaker tape at
/7 TN\A gasket / silicon joint

Z/ Changes reserved

Sous reserve de modifications

C O m a r\ Anderungen vorbehalten

Issue: 05
ARCHITECTURAL ALUMINIUM SYSTEMS Date: 10-16

Extension profile
1407 70mm length

Subject to modifications.

All other rights reserved.



Subject to modifications.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Installation

Spacing of inserts
and clamps

100mm
Glazing
Insert

100mm
Glazing
Insert

100mm % 100mm
Glazing

4 Glazing
Insert % Insert
= IR

400 max. | 400 max | 400 max | 400 max.
\ Detail : C
Detail : D
_—_/

Location of glazing inserts and fixing clamps 2sided SGV
(Two Sided Structural Glazed, vertical cover cap)

1 Glazing inserts (EFT 2401, 2402, 2405, 2416, 2418, 2420)

Top and bottom edge of glass: Glazing inserts to be located 250mm edge of glass to center of
glazing insert at either end. Inserts then spaced at 400mm max. center o center towards the
center of the glass unit.

If the center of the glass unit is reached and there is more than a 400mm space between
center of inserts, you may go up to a max. of 450mm C.T.C. between those inserts.

Transom C.T.C<700mm no clamps, C.T.C 700-1000mm 1 clamp, C.T.C 1000-1300mm 2 clamps,
C.T.C 1300-1600mm 3 clamps etc.

Dependant on wind load, building height and local situation, the glass manufacturer may
approve that less or more inserts can be used.

2 Fixing clamp (EFT 2403)
Clamps to be fixed (with screw 5.5x 23 - 3029 or 5.5x29- 3030)

3 Glass setting block (140x - series)
To be fixed (with screws 5.5 x 23 , 3029)

Location and spacing of glazing inserts & glass setling blocks to be approved by glass
manufacturer.

I

Comar 6EFT

/.53

Fabricators Guide

Changes reserved
Sous reserve de modifications
Anderungen vorbehalten

Issue: 05
Date: 10-16

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS



Installation ( / )

Comar 6EFT Location of glazing inserts,
fixing clamps and peds
glass setting block sE58

-
$08%
8533
OB
7.54 A-A
Hard shim

) 100mm § 100mm

© Glazing Insert y 100 mm Glass Glazing Insert

= 7 A

= B 100 Setting Block

(D e 1l | |

@ |l|le | ‘ E‘i‘i&r@ ‘ | @ [®

) | |

‘C-) | 250 7 I 250

) B A A

(0

O

| -

Q0

©

L

B o

3 Detail : C

B-B

Screw 4.8 x 22, 3092

Thermal break 12mm EFT 2197 beyond

(EPDM) Joint gasket 20 mm EFT 2175

(EPDM) Joint gasket 20 mm EFT 2182

Optional: Silicone Joint with
(EPDM) gasket 20 mm EFT 2170
- use bond breaker tape at
gasket / silicon joint

—
/ "//\/\

j/ Changes reserved

Sous reserve de modifications

C O m a P Anderungen vorbehalten

ARCHITECTURAL ALUMINIUM SYSTEMS Issue: 05
Date: 10-16



( 7 ) Installation

Location of glazing insert Comar 6EFT
fixing damps and
glass setting block

Subject to modifications

AA /.55

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Hard shim

100mm s §

. 100mm )

Glazing Insert y \\100 mm Glass Glazing Insert -9

B 1007 ' Setting Block =

® ® | :i © ‘ﬁ E’{E}:’é H — L ® © (D

T P « I n

| 250 7 N 250 ‘C-)

B A A o

O

-

Q0

= ©

__m= E L

> % B H

. s o [TUT Detail : D

B-B

Screw 5.5 x 29, 3030

Thermal break 18mm EFT 2200 beyond

Thermal break 18mm EFT 2200 beyond

(EPDM) Joint gasket 20 mm EFT 2175

(EPDM) Joint gasket 20 mm EFT 2182

Optional: Silicone Joint with

(EPDM) gasket 20 mm EFT 2170 P
- use bonq _breake_r tape at o~
gasket / silicon joint / / )

Changes reserved Z

Sous reserve de modifications

Anderungen vorbehalten C O m a r‘|

Issue: 05
Date: 10-16 ARCHITECTURAL ALUMINIUM SYSTEMS




Installation
Comar 6EFT

Spacing of insert, damps
and glass setting blocks

Subject to modifications.

400 max.

400 max.

7.56

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,

All other rights reserved.

150

100mm 100mm (= 100mm 100mm
Glazing Insert Glazing Insert ﬂ Glazing Insert Glazing Insert
| —
] i : [a| i ‘ Imama| | i ]
— I I === | T —I = T Il == R
= 7 == 7 | [ =] [ =]
o
4
% 400 max. 400 max. Il 250 | 400 max. 400 max. %
Sl
inl
Detail : A ~7|7 Detail : C |
. . el
Detail : B —— Detail : D ¢
<

I

Location glazing insert and fixing clamps - 4 sided Structural Glazing

100

400 max.

1 Glazing inserts (EFT 2401, 2402, 2405, 2416, 2418, 2420)

Top and bottom edge of glass: Glazing inserts to be located 250mm edge of glass to center
of glazing insert at either end. Inserts then spaced at 400mm max. center to center towards
the center of the glass unit.

Fabricators Guide

Left & right edges of glass: Glazing inserts to be located 150mm edge of glass to center of
glazing insert at either end. Inserts then spaced at 400mm max. center to center towards
the center of the glass unit.

If the center of the glass unit is reached and there is more than a 400mm space between
center of inserts, you may go up to a max of 450mm C.T.C. between those inserts.

2 Fixing clamp (EFT 2403)
Clamps to be fixed (with screw 5.5 x 23 - 3029 or 5.5 x 29 - 3030)

3 Glass setting block (140 x - series)

To be fixed (with screws 5.5 x 23, 3029)

Location and spacing of glazing inserts & glass setting blocks

tesle approved by glass manufacturer.
/‘\/j

-

%/ Changes reserved

Sous reserve de modifications

CO m a P Anderungen vorbehalten

Issue: 05
ARCHITECTURAL ALUMINIUM SYSTEMS Date: 10-16



7/ ) Installation

Thermal break installation Comar 6EFT

Subject to modifications.

For correct isolator/thermal break, refer to glazing charts in section 3.

2 or 4 sided structural glazing

The thermal break must be cut to length between glass setting blocks 7 " 5 7
and clamps.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Isolator/thermal break to be sealed as shown below in all configurations.

Where a drainage Where no drainage )
diverter is installed diverter is installed -9
R )
n
\ -
\J | a S
T N\e® % 0
YV oV O
Arbomeric Arbomeric [
MP20 MP20 0
o ©
L
Apply sealant at Apply sealant at
both edges of both edges of

transom-thermal break transom-thermal break

Changes reserved e %

Sous reserve de modifications

Anderungen vorbehalten C O m a r\

Issue: 05
Date: 10-16 ARCHITECTURAL ALUMINIUM SYSTEMS



Installation ( 7/ )

Comar 6EFT Drainage diverter
Installation

For 4 sided structural jobs, spout of drainage diverter to be cut back to
3mm long. Refer to page 7.41.
e For correct drainage diverter, refer to glazing charts in section 3.

o
g
3
gz
Ledg
w 41-:‘ E o
S8ss
Drainage diverters are to be installed: 29 2E
gc o e
>0 8
e On each mullion at the transom joint nearest the ground. :—n"g 3
e Upside down at the highest mullion-transom joint. £5%9
e Each mullion for the cruciform above each mullion joint. ga;—é%
e The mullion-transom joint above any doors. .gﬁ 8
2¥:
a3 ©
€435
Notes: 6 2
£5 3
. . . . . . 92
7 58 e A drainage diverter at every cruciform for zone drainage is optional. od s
[ ] %g s:
289
o 3
g0
8a 8

All other rights reserved.

Locate drainage diverter ensuring it is pushed back flush with the mullion

Inject sealant into hole in drainage diverter and ensure sealant covers all sides

0]

O

‘= Arbomeric
8 MP20

n

-

O

e

©

L_) Lowest mullion-transom joint o Installed upside down at highest
L Cruciform above each mullion mullion-transom > 3m in height
Q0 joint (for pressure equalisation)

©

L

e At mullon-transom connection
above doors

Connection Drainage diverters XX2023 (50mm) &
Extension drainage diverter (35mm) XX2032

, 2 / Changes reserved

Sous reserve de modifications

C O m a r\ Anderungen vorbehalten

Issue: 05
ARCHITECTURAL ALUMINIUM SYSTEMS Date: 10-16



ventilation detail

4sided SG drainage &

Installation

Comar 6EFT

g2 8 5
8558 :
28 2s Cut spout back 3= :
§§f“:3j‘ug’ to 3mm long =
5523 :
£85 I~ '
5 3\:_; TOP N
e8¢y DETAIL !
538 Air Drai |
26 58 . rainage
;% ;2 Joint Gasket____ | diverter
gug ;% Thermal Break\ | |
SZ 8% Glass | J_
Thermal Break\
Joint Gasket\
Cut spout back Drainage
to 3mm long diverter
INTERMEDIATE
& BOTTOM o
) -
Glass L
2182
Y 0 2
% 4 4 7
% y v 4
— 2179 /=
Drainage diverter:
-2021 50mm
4 P 4 % -2019 54mm
-2020 56mm
-2026 64mm
Y
4 P 0 Y p -2027 72mm
// >
>@§ Vs )

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

Fabricators Guide



Comar 6EFT

Instalation ( / )

Drainage & Ventilation
by Individual Window

Water Stop

/ FMO009

-

I Ventilation

I Drainage

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Water Stop
FM009

Water Stop FM009
Length to Fit

A-A
I__. J—
| ,
|
#
| ]
7-60 | (e0]
Q
1wy s
Cut off 30mm
Cut off 30mm
— 8
(49}
@ \ #
3 o
> |
Q
& I
S
A-A
©
@)
-
0
©
L
i
L
o
: l_Drainage
| 1))
, a0
3x®8j

| 600 A/

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

Changes reserved

Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16

Subject to modifications.



Installation

7.61

Comar 6EFT

Sealing

‘suonesyIpow 03 399[qns

‘paAJdasal s3ybu 1ayio ||y
*Ajied paiyy Aue o3 uonediignd 404 10 uondnpoudad ‘asn sil 10)
pa4inbaa s| Juasuo0d uaIIM Jolid 9soym ‘p3] SWDISAS apeded oing
‘143 ul pa3isaA sI buimelap siyz jo diysiaumo pue jybriAdod

apino siojedlige

APPLY SEALANT
TO ALL JOINT

Sous reserve de modifications
Anderungen vorbehalten

Changes reserved

ARCHITECTURAL ALUMINIUM SYSTEMS

©
bl
1
In ©
o-
=
0w ©
KiNal



Installation

7))

Comar 6EFT

Transom drainage diverter

d

equire

Transom drainage diverter 2025 to be used on 4 sided e Sy
SG facetted screens and any 4sided SG corners. S8
g5t
X s
3885
6 5253
£85
225y
S| g£5%
b -l Egge
sh 29
7.62 ; 582
Glass Setting Block __| Rk
E
8o 8%
5
v ° s
O O sljip |& ™
8 6
w0
s_
@)
)
©
@)
s_
0
©
L
o
58 b S
b @ 4
* 5 \ \ Water Stop:
J & | o] Drainage Path FMO09 9x28
2025 H 22 100 Length to Fit
|
I
PV ’>
TN
V7 J

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16



Installation
Comar 6EFT

7.63

apino siojedlige

~10

*suonesyipow 03 33fgns ‘paAJdasal s3ybu 1ayio ||y

*Ajied paiyy Aue o3 uonediignd 404 10 uondnpoudad ‘asn sil 10)
pa4inbaa s| Juasuo0d uaIIM Jolid 9soym ‘p3] SWDISAS apeded oing
‘143 ul pa3isaA sI buimelap siyz jo diysiaumo pue jybriAdod

O

)

o)

0

O

2

5¢ -

8 <

» O

D20

Q0

bS

°3

8O

e %

N <

o >

25

0
Q >0
g .Alun
© O
cC (0]
= 0 2
(© OS¢
5 50 :
£, Do ———
- o)
oOU €0
nt 9=
C Q c O
@S 0§
S =
T

A X2
oooy - 500 ©
858 geg o M
866 388 o\
[e]e]e) [e]ele)
[e]e]e) (e]e]e)
L n
N
un
N &
N 0c¢c
n
‘ cC
o
S
S
N =
N E
) o)
— o E
O | o
[ o]
& v Qo
o O™ o2
0] =0
L =5 00
oo N o2
cwn
© 3
£ 0
[ON0)]

Anderungen vorbehalten

ARCHITECTURAL ALUMINIUM SYSTEMS

10-16

Issue: 05
Date :



Installation ( / )

Comar 6EFT Butyl tape application

7.64

/
| — s

] Butyl tape applied ;
down full length of T~

\>

N facetted joint

facetted angle joint to be covered by a pressure plate & cover cap.

Fabricators Guide

e

Butyl tape 6001 or 6002 to be installed full height of the mullion down any

Punched & drilled holes for pressure plate screws, drainage diverters and pressure
equalization.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,

Subject to modifications.

All other rights reserved.

Changes reserved
Sous reserve de modifications

C O m a P Anderungen vorbehalten

ARCHITECTURAL ALUMINIUM SYSTEMS

Issue: 05
Date: 10-16



Single gasket
installation

Subject to modifications.

Installation

Comar 6EFT

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Slot for drainage
and pressure
equalisation

Tooling: Comé-EFT-T14

Apply EPDM

bonding

compound to ——e
pressure plate
gasket

slot 5.5x7
Tooling: Comé-EFT-T14

15
_JI
= Er
@ L
t A 1L
Slot for
— pressure
e O o equalisation
F-<L R
Te]
(oYl
_r
TJ_
3 po)
L
Il
ﬂ .
Seal Arbomeric
MP20
3
Y Inafully capped system,

~ use different cap heights.
Mullion cap to be min.

wl.i 3mm larger than transom

©
L7
200 25
2
| CTC - 54 /

50

—
cap.

T

13

0.5 CTC - 51 |

Pressure plate

CTC

Cover cap

CTC

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16

1

/7,
= thermal expansion / J

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

7.65

Fabricators Guide



Installation

7))

Comar 6EFT

7.66

Fabricators Guide

Draining horizontal

he
g
=
gz
Fe8a
s o5
cCQ =5
o258
0 >k
58538
. nE o
Slot for Drainage \ Slot 5.5x7 Tooling: 16 ) 95 5%
Tooling: Comé-EFT-T14 Comé-EFT-T14 o Min. 558%
‘ / 16mm $553
| £85
777777777777777777777 - - — — ] — — u uc-);ul:
28 2.
| H
(] ge 8§
| a YRE a
6 20 53
40 30 40 é -
w >k 8 & ¢
I S —— - 258
> F=—
7 | : 38k
30 5 -
8
600 max. 200 } L
Drainage slot
Tooling: EFT 2902 T
FIXING LARGE COVER CAPS
3020 1213 * 3020
1211 J I

75

1253

45x 1.5
(Supplied by others)

* secure large sized cover caps with pan

head screw 3020 (3.5x9) e:g. underneo’rh\

the vertical cover cap. C.T.C 1500mm max.

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

100 |
4.2 exb
%
11/ 1253
JNT]
5
8
é
é

Sous

Changes reserved
reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16



Subject to modifications.

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,
All other rights reserved.

Draining large heights

7))

Installation

Fixing vertical cover caps

R o N
*k
| S —
c
)
= thermal gﬁ
expansion Q
Q
1 8 1
|-
0
>
0
@)
—— — 7
I o |
| |
X
XXXl
Covercap || *3:*
Expansion joint
¥ Vertical cover S= 6-8 Jmm ¢
cap to be fixed
with screw 3020
(3.5x9)
underneath k o

the horizontal cap

Changes reserved
Sous reserve de modifications
Anderungen vorbehalten

Issue: 05

Date: 10-

16

Comar 6EFT

7.67

[ 3 3 X

I - P

Drainage diverter
for high rise
buildings (supplied
by others)

Position at approx.
5 every 20 metres of
building height

comanr

ARCHITECTURAL ALUMINIUM SYSTEMS

Fabricators Guide



Installation

L7

Comar 6EFT

Silicone seal & bond
breaker tape application

Mullion detail

7.68

Fabricators Guide

Euro Facade Systems Ltd, whose prior written consent is required
for its use, reproduction or for publication to any third party.

Copyright and ownership of this drawing is vested in EFT,

y

28.0

00000000
00000000,

&?0000000

00000000
00000000
00000000

Any edge of gasket that
will be exposed to external
silicone seal must have
bond breaker tape applied
to its surface to prevent a
three way seal

It is the silicone installers
responsibility to supply and
apply a suitable bond breaker
tape and silicone seal.

A warranty on the silicone seal
should be obtained from the
silicone installer company.

comanr

ARCHITEGTURAL ALUMINIUM SYSTEMS

Transom
detail

28.0

Changes reserved
Sous reserve de modifications

Anderungen vorbehalten

Issue: 05
Date: 10-16

Subject to modifications.

All other rights reserved.





